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Question 1.
Referring to figure 1,
a) Give the micro-code that is executed when the MIR of Tanenbaum's Micl subset of JVM
contains:
5403902116

b) Translate the following micro-code into the bits of the MIR and write the answer in octal.
MAR=SP=SP- 1:read

Question 2.
The following defines an arithmetic and logical unit:
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a) What is the output when:
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b) When:
Il=Iz=Ig=A1=A2=1
what happens?

Question 3.
a) Differentiate between the environment variables CLASSPATH and PATH.
b) What is an applet?

c¢) From this diagram alone, describe the operation of the chip.
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d) What is anonymous FTP?

e)Describe at least two methods that manufacturers use to identify which way round to put
connectors onto their ribbon cables. :



Question 4.
a) Express -20y in binary.

b) Convert 2469, into hexadecimal.

c) Convert 129 to octal.

d) In what circumstances would you choose Java and not JVM to write a program?

Question 5.

a) Show how the AND logic function can be implemented using transistors. Explain all the

components.

b) How do you implement a two input OR gate using NAND gates only? (How do you know it

works?)
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Figure 1: A reminder of the tables introduced during the course, defining the MIC1.

End of examination paper.




